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Which of the following is a metallic
mineral ?

(A) Iron

(B) Marble

(C) Lime

(D) Beryllium

Khetri-Singhana region of Rajasthan is
famous for which mineral ?

(A) Iron

(B) Lead and Zinc
(C) Copper

(D) Marble

The Tal Chapper wildlife sanctuary is
famous for :

(A) Flying Squirrel
(B) Blackbuck

(C) Tiger

(D) Birds

What type of coal does Rajasthan
produce ?

(A) Anthracite

(B) Bituminous

(C) Lignite

(D) Peat

In which State is maximum gypsum found
in India ?

(A) Andhra Pradesh

(B) Bihar

(C) Jharkhand

(D) Rajasthan
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Which State of India is the highest
producer of asbestos ?

(A) Rajasthan

(B) Chhattisgarh

(C) Jharkhand

(D) Karnataka

In which district of Rajasthan is tungsten
found ?

(A) Ajmer

(B) Nagore

(C) Bhilwara

(D) Dungarpur

Development that meets the needs of the
present without compromising the ability
of future generations to meet their own
needs is :

(A) Industrial Development
(B) Rapid Development

(C) Sustainable Development
(D) Regional Development

In an ecosystem different levels based on
their energy source are known as :

(A) Trophic Level
(B) Mineral Level
(C) Food Web
(D) Biome

The flow of energy through ecosystem is
unidirectional :

(A) Two-directional
(B) Undirectional
(C) Unidirectional
(D) Three-directional
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Sundarbans are :
(A)
(B)
©)
(D)

Tropical forests
Mangrove forests
Mediterranean forest

Desert forest

Which districts are highly affected by
waterlogging in Rajasthan ?

(A)
(B)
©
(D)

Ganganagar and Hanumangarh
Baran and Kota
Jaisalmer and Barmer

Udaipur and Baran

Reason for drought in Rajasthan is :
(A)
(B)
©
(D)

Uncertainty of Monsoon
Irregular Rainfall
Inequality of Rainfall
All of these

List of endangered species is found in :

(A) Red data book
(B)
©
(D)

Yellow data book
Pink data book
Agenda-21

National Environment Engineering
Research Institute (NEERI) is situated in :
(A) Bhopal

(B) Jaipur

©)

(D)

Nagpur
Jodhpur
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CAZRI (Central Arid Zone Research
Institute) is situated in :

(A) Bhopal
(B) Jaipur
©)
D)

Nagpur
Jodhpur

Air pollution largely atfects :
(A)
(B)
©)
D)

Respiratory system
Skin
Eyes

Ears

What is Walra ?
(A)
(B)
©)
(D)

Shifting Agriculture
Water Conservation Technique
Grassland

None of these

The objective of environmental education

1S :

(A) Raise consciousness about
environmental education
(B) To teach environmentally

appropriate behaviour
(C) Create an environmental ethic that
fosters awareness about ecological
interdependence of economics,
social and political factors in a
and the

human community

environment

(D) All of these
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Ozone shields the surface of earth from :
(A)
(B)
©)
(D)

Infrared rays
Ultraviolet rays
X-rays

All of these

In which State Simplipal Biosphere
Reserve is located ?

(A) Odisha

(B) West Bengal

(C) Madhya Pradesh

(D) Andhra Pradesh

Deforestation will decrease :
(A)
(B)
©)
(D)

Soil erosion
Landslides
Soil fertility
Rainfall

Prairies grasslands are located in :
(A)
(B)
©
(D)

South Africa
South America
Australia

North America

The Wildlife Protection Act enacted in :
(A) 1972
(B) 1982
(C) 2002
(D) 1999
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Renewable sources
important because :
(A) They are comparatively cheaper
(B) They are not likely to get exhausted
(C) They are likely to get exhausted

(D) They are useless for modern
production technology

of energy are

Reason of Blue baby syndrome is :
(A)
(B)
©)
(D)

Water pollution
Air pollution
Noise pollution

Nuclear pollution

Who is known as father of Indian Green
Revolution ?

(A) V. Kurien

(B) C. Subramaniam
(C) M.S. Swaminathan
(D) None of these

Mathania solar power plant which is in
the district of Rajasthan :

(A)
(B)
©)
(D)

Jaisalmer
Barmer
Dungarpur
Jodhpur

Who is known as the father of Indian
environmental science ?

(A) Ramdeo Mishra

(B) M.S. Swaminathan
(C) Verges Kurian

(D) Raja Ram Mohan Roy
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The Siberian Crane, an endangered
migratory bird is a regular visitor of which
of the following national park/bird
sanctuaries :

(A) Keoladeo National Park
(B) Nanda Devi National Park
(C) Kaziranga National Park
(D) Ranthambore National Park

Which is not atmospheric disaster ?
(A) Landslide

(B) Typhoon

(C) Hurricane

(D) Tornado

United
Environment Programme is located in :

(A) Paris

(B) New York
(C) Geneva
(D) Nairobi

Headquarters  of Nations

World Environment Day is celebrated on :
(A) 22nd April

(B) 16th September

(C) 5th June

(D) 21st March

World Population Day is celebrated on :
(A) 22nd April

(B) 16th September

(C) 5th June

(D) 11th June
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The highest garnet producing State of India
is:

(A) Rajasthan
(B) Jharkhand
(©) Gujarat

(D) Tamil Nadu

Sitamata Sanctuary is famous for :
(A) Flying squirrel

(B) Wolf

(C) Bear

(D) Deer

State flower of Rajasthan is :
(A) Rose

(B) Lotus

(C) Rohida

(D) Khejdi

Which among the following not a

renewable energy resource ?
(A) Solar energy

(B) Wind energy

(C) Tidal energy

(D) Coal

Gully erosion is associated with :
(A) Air pollution

(B) Soil formation

(C) Soil erosion

(D) Soil conservation
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41.

42,

43.

44.
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is a hotspot of biodiversity ?
(A)
(B)
©)
(D)

Sundarbans
Western Ghats
Eastern Ghats

Gangetic Plain

Intensity of noise is measured in :
(A) Decibel

(B)
©
(D)

Joule
Watt
Dobson Unit

Source of air pollution is :
(A)
(B)
©
(D)

Smoke
Dust

Gas

All of these

Khejri trees are mainly found in :
(A)
(B)
©)
(D)

Hot and humid conditions
Cool and dry conditions
Temperate conditions

Hot and dry conditions

In India, Tropical rain forest occurs in :
(A)
(B)
©
(D)

Rajasthan
Andaman & Nicobar
Uttar Pradesh

Himachal Pradesh
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Area of land, water and air where the life
exists is called :

(A)
(B)
©)
D)

Biosphere
Lithosphere
Atmosphere

Hydrosphere

The green plants are also called :
(A)
(B)
©)
D)

Producers
Consumers
Decomposer

Scavenger

The term ecosystem was first proposed
by :

(A) E.P. Odum

(B) R.L. Smith

(C) A.G. Tansley

(D) E. Haeckel
of in earth’s

Percentage nitrogen

atmosphere is :
(A) 12%
B) 21%
©) 78%
(D) 98%

Energy obtained from the earth’s hot
interior is called the :

(A)
(B)
©)
(D)

Geo-thermal energy
Thermal energy
Biomass energy

None of these
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Which of the following is not a solution
for global warming ?

(A)
(B)
©
(D)

Deforestation
Plantation of more trees
Reducing tossil fuel consumption

None of these

Ozone is present in which layer of the
atmosphere ?

(A)
(B)
©
(D)

Stratosphere
Mesosphere
Troposphere

Thermosphere

Environmental is  the
responsibility of :

(A) Individuals

(B) NGO’s

(C) Government of India

(D) All of these

protection

What is the cause of ‘Greenhouse
effect’ ?

(A)
(B)
©)
(D)

Nitrogen

Carbon Dioxide
Carbon Monoxide
Nitrogen Dioxide

Which is not a factor affecting climate of
Rajasthan ?

(A)
(B)
©)
(D)

Distance from the Arabian Sea
Distance from Bay of Bengal
Longitudinal position

Relief
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The district of Rajasthan where tropical
dry deciduous forests are found :

(A) Bikaner

(B) Sirohi

(C) Nagaur

(D) Ganganagar

Which large part of Rajasthan is largely
devoid of forest area ?

(A) Eastern
(B) Western
(C) Northern
(D) Southern

What are the grasslands or pastures called
in Rajasthan ?

(A) Beed

(B) Khadin

(C) Stitch

(D) None of these

Where is Arid Forest Research Institute
located ?

(A) Nagaure

(B) Bikaner

(C) Jodhpur

(D) Jaisalmer

Expansion of the term WWF is :
(A) Worldwide Forest

(B) World Wild Life Fund

(C) Worldwide Lite Force

(D) Worldwide Life Forest
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Tsunami originates from :
(A)
(B)
©
(D)

Submarine earthquake
Water pollution
Ozone depletion

Acid Rain

Khejadli Movement is associated with :
(A)
(B)
©
(D)

Forest Protection
Water Protection
Air Protection

Soil Protection

Which among the following is most

populous continent ?
(A) Asia

(B) Europe

©)
(D)

North America

Australia

Hurricanes or Typhoons are :
(A)
(B)
©
(D)

Volcanoes
Earthquakes
Cyclones

Pollutants

The first wind power plant of Rajasthan

was established in :
(A)
(B)
©)
(D)

Amar Sagar
Deogarh
Mathania
Bhadla
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Acid rain is caused by :
(A)
(B)
©)
D)

Sulphur dioxide
Carbon

Dust

All of these

The recycling of elements in the
environment is called :

(A) Chemical cycle

(B) Biogeochemical cycle

(C) Biological cycle

(D) Geologic cycle

Resource conservation means :
(A)
(B)
©)
(D)

Proper use of natural resources
Protection of natural resources
Management of natural resources
All of these

Greenhouse effect is related to which of

the following ?
(A)
(B)
©)
(D)

Green trees in houses
Global warming
Grass land

Green country

What effect does industrialization have on
the environment ?

(A)
(B)
©
(D)

Increase in air pollution

Increase in noise pollution

Increase in water pollution
Increase in all the above mentioned
pollutions
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(C) Sifas =

(D) +ifa =k

T W& R AL ¥

(A) YTHfaer GEIEHT 1 Tt STAM
(B) WIhfaeh THIEF! 1 o=

(C) WIhidesh LT T Faed
(D) 3 9t

frfafea # @ sRaqe gaa feed
Trafea § 2

A) TWARITY
(B) Talee ifHT |
(C) = 4 |
(D) B-W W H

SN IRTOT T YOO T 1 G
TS ?

(A) =1g 9gsm ¥ gfg
(B) &= wgmm # Ifg
(C) ST g # Ffs
(D) 3 [t wgEmh § gig
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70.

71.

72.

73.

TA-3

In which of the following areas the
destruction of forests due to shifting

cultivation occurs the most ?

(A) In South-East India
(B) In the tribal areas of North-East India
(C) In the foothills of the Himalayas

(D) In desert areas
Which factors determine the number of

producers and consumers in an
ecosystem ?

(A)
(B)
©

(D)

Climatic factors
Surface factors
Biological factors

Soil factors

Faulty irrigation method results in :

(A) Soil pollution

(B) Soil conservation
(C) Soil erosion
(D) Air pollution

What is a threat to environment ?
(A)
(B)
©)
(D)

Growing plant
Growing population
Growing crops

None of these
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70.

71.

72.

73.

frefafed # @ frg &= 8 gfim S d
ERIICIR RN C I

(A) <feru-gd 9Rd §

(B) SWR-Td YRA o fCarr &l |
(C) feurea & fafu @

(D) TEEIE™ &5 |

s uifeufas o # Scagwl wd
SISt w1 & I HAY HRE
ffeea wxa ¥ 2

(A) Seay =l R

(B) ®ERIAed SR

(C) Sifash FHR®

(D) <l e

Srerqul = gsia 1 aRom §
(A) &1 HgE
(B) T T
(C) T ST
(D) ST Fgo

qgfeRo & T T = § ?
(A) e qE

(B) et et

(C) et wHed

(D) 379 | FE TE
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74.

75.

76.

77.

78.

TA-3

Mosses and Lichens are found in :
(A)
(B)
©)
(D)

Desert vegetation
Tropical evergreen forest
Tundra vegetation

Mediterranean vegetation

Steppe grassland is found in :
(A) South Africa

(B) Australia

©)
(D)

Central Asia

Europe

Global warming will cause the following
problem :

(A)
(B)
©)
(D)

Melting of glaciers
Raising of ocean level
Sinking of islands

All of these

Which is often lacking in the soil of more
irrigated and intensively cultivated areas ?

(A)
(B)
©)
(D)

Zinc
Manganese
Iron element
All of these

Which State is known as the museum of
minerals ?

(A)
(B)
©)
(D)

Gujarat
Assam
Kerala

Rajasthan
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74.

75.

76.

77.

78.

Y R AEHT I 9 ©
(A) e gaeafd §

(B) IUhiCHET TEERR a9 H
(C) <o aea |

(D) HEETRIE aF&dfd §

@ﬁw%ﬁa’mmaﬁ%:
(A) Tf&U TR H

(B) oAt=eferen #

(C) T=g uf¥rn |

(D) Zq9

TAeA Nty fefefed Tae st R
T

(A) TR 1 ferern

(B) HHS hl ¥ el

(C) ErHl 1 g

(D) I gt

arfores fafea aun o=@ &9 Ot &5 &t
1 | W fohdent 21 @ § 2
INBREER:D

(B) IS &1

(C) g T

(D) = g9t =

fohd ST i WS 1 TSR Fal
e ?

(A) TSI

(B) t&H

(C)

(D) STEATH
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79.

80.

81.

82.

TA-3

Lowest layer of atmosphere is called :
(A)
(B)
©)
(D)

Thermosphere
Stratosphere
Troposphere

Mesosphere

The main purpose of rainwater harvesting
is recharge the :

(A)
(B)
©)
(D)

Gardens
Wells
Canals

Groundwater table

Environmental studies provide knowledge
about which of the following ?
(A) of

Richness and conservation

biodiversity
(B)
©

Relationship of ecosystem

Knowledge about environmental
pollution and control

(D) All of these

Ramsar Convention is related with :
(A)
(B)
©)
(D)

Desert
Climate change
Ozone depletion

Wetlands
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79.

80.

81.

82.

IS i T Feel TR FHean §
(A) TIHIESA

(B) HHATTHUSH

(C) &nvHISd

(D) TATISA

Tul S FEIT T &F 3qavd TAHRT
T

(A) SEHI &1

(B) B3l 1

(C) &l H

(D) YT &R HI

qieRl Aeqad fefafea § 9 fhas

R H JE YSH H@T® 2

(A) Stafafaud ot wgfg iR e

(B) WIRferfae T &1 wwry

(C) TATERT Hguor SR f=on & sm H
SHRRT

(D) A qeft

THER T FrEfed ©
(A) TTA 9

(B) Sierarg giedd |
(C) TSI &Rl |

(D) mSyfe &
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83. What is the physical component of 83. TataRy wd Wikfafaet &1 ifasw wew

environment and ecology ? FAE ?

(A) Animal (A) ST

(B) Vegetation B) At

(C) Flowing water ©) Jertgd Siel
(D) Ecology (D) dTRfEfaent

84. The study of interrelations between 84. Sfial qoT THTERT & ISR T4 hl

organisms and the environment is called : T N HEA § ?
(A) Life Science (A) SIEERERIE]

(B) Biogeography (B) éﬁ—‘lfﬁ?‘l

(C) Physics © Aifqent

(D) Ecology (D) dTiferfaent

85. In which group are fungi included in the 85. o9 & UIfEufaes 3 ® wask &l g

forest ecosystem ? e ¥ witdfaa fean S © 2
(A) Producer (A) JcUIgeh

(B) Consumer (B) SUYEI

(C) Secondary consumer (OMREGIRERSEEIES

(D) Decomposer (D) STl

o o~

86. What is an example of a natural 86. WThider aTRfEfdeh T T ISR

ecosystem ? 72

(A) Farm (A) Td
(B) Dam (B) Sty
(C) Lake (C) dia
(D) Park (D) U
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87.

88.

89.

90.

91.

TA-3

What connects the biotic and abiotic

components of the ecosystem ?
(A) Producer

(B) Organic matter

(C) Inorganic substances

(D) Consumer

How can soil erosion be prevented ?

(A) Excessive grazing of animals

(B) By erosion of vegetation

(C) Through afforestation

(D) By increasing the population of birds

Who converts light energy into chemical
energy ?

(A) Microorganism

(B) Decomposer

(C) Secondary consumers

(D) Green plants

Who are tertiary consumers ?
(A) Elephant

(B) Rhinoceros

(C) Ostrich

(D) Eagle

Which of the following is nature’s cleaner ?
(A)
(B)
©
(D)

Earthworm
Vulture
Ostrich
Eagle
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87.

88.

89.

90.

91.

qiitfeafaess 93 & Sifas 9 e™ifaes el
FI FHE SIS § 2

(A) 3URCH

(B) & TeTd

(C) 3STahTafTeh T

(D) ST

TT 3RS 1 Ry =1 S Wbl § 2
(A) T3 ! STATR =RIHRT

(B) Il % hed GRI

(C) SAUI R

(D) &l ol STHEEAT gl

YRR el bl YIRS Sl H A
FCAA § ?

(A) q&H Sy

(B) JAUEIHh

(C) fgataer SadiE

(D) ® UEY

JeTash ST HiF B § 2
(A) wredt

B) eI

(ORI

(D) 9

a1 GHERH! fhd HEl ST & 2
(A) gt

B) firs

(©) I

(D) &=
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92.

93.

9.

95.

TA-3

What is the major source of energy in the
ecosystem ?

(A)
(B)
©)
D)

Geothermal
Sun
Greenhouse gases

Moon

Bacteria in water cause :

(A) Malaria

(B) Typhoid

(C) Dengue

(D) Chikungunya

Excess of fluoride in drinking water

causes :
(A)
(B)
©)
(D)

Lungs disease
Intestinal infection
Fluorosis

None of these

Which pollutants in water causes Itai-Itai
disease ?

(A)
(B)
©)
(D)

Cadmium
Mercury
Nitrate

Carbon
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92.

93.

9.

95.

TiRfrfae a3 | el &1 Y@ Fid =
772

(A) ¥H{-dH

B)

(C) iTesE T

(D) =sH

...................

(A) IR
(B) A %R
©) <

(D) e

T & It H TARIEES i STfeeRdr i
W@?ﬁ%:

(A) HWHS! I STAR

(B) 3ifdi § W

(C) TRIad

(D) TTH ¥ =8 T

S H DAl U5TH T $eR-3e® T
T HRV A T ?

(A) HeHam

(B) UM

(©) e

(D) e
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96.

97.

98.

99.

On what factors does the population
growth of a country and its distribution
on land depend ?

(A) On physical factors like climate, soil
etc.

On social, economic and cultural
tactors

Demographic tactors

All of these

(B)

©
(D)

Which country has the highest population
in the world ?

(A) India

(B) China

(C) Australia

(D) Pakistan

According to the National Forest Policy,
1988, what percentage of the total
geographical area should be forest
covered ?

(A) 50

(B) 33

C) 23

(D) 43

In which year was the Air Pollution Act
passed ?

(A) 1966

(B) 1976

(C) 1981

(D) 1990

100.In which year was the Environment Act

TA-3

passed ?

(A) 1986
(B) 1976
(C) 1981
(D) 1956
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96.

97.

98.

99.

fdl 391 &t S gfg T 9fi W
TR foaeor fea-fa wrent W™ AR
FAT T ?

(A) Sioarg faedt amfe oifae wRe W
(B) gmIfsieh, oMfYfeh wd Whfds
HRH W

STETREeh el T

T 9t W

©
(D)

forge § waifer SEE fra ST HI 8 2
(A) YA i

(B) <9 @t

(C) aArefern &t

(D) HIfh&™ i

TS o9 Hifd, 1988 & ATER, Hod
drferer e 1 oo wiae am
STeIfed BT =18y ?

(A) 50

B) 33

©) 23

(D) 43

a1 gu SAfufEm foRy o § aiika gem
1

(A)
(B)
©
(D)

1966
1976
1981
1990

100. =R HAfafem fhe oo § aiiid ga

a1 ?
(A)
(B)
©
(D)

1986
1976
1981
1956
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10.

TA-3

Four alternative answers are mentioned for
each question as (A), (B), (C) and (D) in the
Booklet. The candidate has to choose the
most appropriate answer and mark the same
in the OMR Answer-Sheet as per the
direction :

For Example :
Question :

. ® @ ©O 0O

2. ® ® @ O

Illegible
overwriting will be cancelled.

answers with cutting and

In case the candidate does not fill the
appropriate circle in the Answer-Sheet and
leaves blank, ‘Zero’ mark will be given.

The candidate has to mark carefully as per
direction the answers on the OMR Answer-
Sheet with black or blue ball point pen only.

Strict directions are hereby given to the
examinee to refrain from correction of their
earlier marked answer in OMR by rubbing or
scratching or using white fluid. In case of
violation of this instruction, examinee’s
result may not be processed or the examinee
may be declared disqualified in the exam.

The examinee shall hand over OMR Answer-
Sheet to the invigilator and can take carbon
copy of the OMR Answer-Sheet and question
booklet with himself.

Write your Scholar Number and other
required details in the space provided on the
title page of the booklet and on the OMR
Answer-Sheet with ink pen or ball pen. Do
not use lead pencil.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.
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4. TA-GRETHR H TOE TR % 9R qRIfad W

— (A), (B), (C) 3 (D) | wieneff 3 =i feremedt
T U Tt ST 1 997 HL 39 OMR ST-Uh
# fadorgEr fafed Y1 S F SW-T9F H
Hraferd W9 G B 1 YohR W
EEU 0

U9d

.. ® @ © O

2. ® ® ©

FTqfed ST a1 T8 ST = h1er 41 agen T |,
e = fed s

g wenel STR-wTeR H SUgH WA H
WAl § R SW-TAF I Tefl g @ T, @
‘T’ 31k YeH R S |

segefl 1 Y91 o ST OMR STX-UAeh T Shadl
F A A S @Re W ¥ fdengar sifed
T B

Thenef = T s feu S € f 9w etn
OMR ¥ & # fST 7T ST ! a5 & farg, e
I e & o WhE gd 1 STANT T8 Hal |
afg 33 <9 T TR T ST © A wRremeft
1 IFOTH JehT T Gehdl © A1 SH TeT | 1
=ty feran ST Hehar B |

wderrett sy ifremd U A wen vee srga |
Y& OMR STR-Ueh (FRI&Teh & T ST U=t
AT 94T OMR ST-UsTeh <ht ShTeld Ufd qom
Y9T-YfReehT 37 T & ST Wehd € |
Y¥-YRhT % HETS T q91 OMR ITR-Ush
T 9 oM § whier T aur o1 faero
$oh U9 91 STl @ge U9 9 & o | ufee et v
Bl

10. TXHeT el H AIT-9h, shoehered, ISR a1 deger

T o ST A1 SHehT STAT HA1 Ffoid 2
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